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Integration (+ constant; a > 0 where relevant)

f(x)

sinh x

cosh x

tanh x
1

a° =

1

a* + x*

T
1
Ja* + x°

J' f(x) dx

cosh x
sinh x

Incosh x

arcsin (5) (x| < a)
a

! e 2]

i
a
arcosh (-{), In{x + Vx* =@’} (x> a)
a

arsinh (

) In{x+\/x +a}

Q%




6 Integrate the following with respect to x.

. | . 1
(i) (i)
4 4 x? x2 —9
(i) 1 (iv) :
v
V9 — x? \/36x2+ 16
(v) 1 (vi) 1
vi
Vx2 —4x + 8 VX2 4+ x
. 1 x°
(vii) (viii)

VIx? 4+ 6x — 8 X6 —1

7 Evaluate each of the following, correct to 3 significant figures.

3 1 20 1
(i) J dx (i) J dx.
L Vx2+4x+5 10 V4x2 + 12x — 40
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